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Unit 4: Molar Mass of Magnesium (10 pts)
The following worksheet is to be completed while doing the Lab Simulation from www.latenitelabs.com.  Go to their website, login with the username and password given to you by your instructor, and find the lab entitled Molar Mass of Magnesium. Click on the lab name and then select “Run Lab”.  Follow the directions in the procedure of  the website and record all of your data on this worksheet. – Do not enter any data down in the “Assignments” section of the website, nor click on the “Submit Report” button.

Assignment 1 of Procedure 1

1. Write a balanced equation for the reaction of Mg with HCl(aq).  Include states.

2. Record the volume, pressure and temperature of the gas in the gas piston as measured in the experiment.

3. The volume of gas in the piston is equal to the volume of gas produced by the reaction.  Use the ideal gas equation in the Background section of the lab manual to find the number of moles of gas produced by the reaction. The gas constant, R, is given as:     R = 0.082057 (L*atm)/(K*mole)

You will need to have your pressure value in atm (atmospheres) and the temperature in Kelvin.










_________ moles of gas produced.

4. Assuming that Mg was the limiting reagent, use stoichiometry and your measured value of gas produced in the reaction to calculate the number of moles of Mg that were in your sample.

5. Molar Mass is calculated by the following:  Mass of Sample / Moles of Sample.                             Since you know what mass of Magnesium you used, and you have just calculated how many moles of Mg that was, use this formula to determine the molar mass of magnesium.
6. How does your answer above compare to the molar mass of magnesium as found on your periodic table?

7. Could this experiment be performed in the smaller 50 mL Erlenmeyer flask? If so, would any part of our procedure be different? Explain.
8. Would it make any difference in your above answers if we knew that the HCl was the limiting reactant? Explain.
